Bellwork  Alg 2A  4th hour  Tuesday, January 10, 2017
Multiplying a Matrix by Another [Viatrix

But to multiply a matrix by another matrix we need to do the " dot product " of rows and
columns ... what does that mean? Let us see with an example:

To work out the answer for the 1st row and 1st column:

1237 |75 _[s8
45 6 0 101 =
11 12
The "Dot Product" is where we multiply matching members, then sum up:
(1,2,3) (7,9, 11) = 1x7 + 2x9 + 3x11 = 58

We match the 1st members (1 and 7), multiply them, likewise for the 2nd
members (2 and 9) and the 3rd members (3 and 11), and finally sum them up.

Without using a graphing calculator find the product of each pair of matrices.
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But to multiply a matrix by another matrix we need to do the " dot product " of rows and
columns ... what does that mean? Let us see with an example:

To work out the answer for the 1st row and 1st column:
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45 6 101 =
11 12
The "Dot Product” is where we multiply matching members, then sum up:
(1,2,3)(7,9,11) = 1x7 + 2x9 + 3x11 = 58

We match the 1st members (1 and 7), multiply them, likewise for the 2nd
~ members (2 and 9) and the 3rd members (3 and 11), and finally sum them up.

Without using a graphing calculator find the product of each pair of matrices..

| o [k - 32| _reab
R PR S R e

. 9 0
2X2 e X2 = Z% L. e .32 = Yo
To (/M(Q a - ‘M“H‘P\"( vow | [9‘7 CO(W’"‘”J— o gn(& N mull rowl by col ;4
a= Y.l +2-2 =4+-{=0 qQz 7.3 +-b+5:9= 2J+—o;+wéo
o o ot mulbply rowl by (elwrn Z o fud b muth rewl by Gl2
° ’ b= 7L+ -/ +S0 = —14 +1/—Q
b = Y.0 + 2= 0+lL =12 = -2
[ 1 Jo ‘ﬁw& e owmul ooz l9‘1 lof| [
ymn

To fnd C ‘.W\wu'bpig_rawz b7(o
[ = -S4 3:2= ~S+="

C=m 2.2 4| 44:9= (ietio= Y8
To %w& d malf Yo bO“L(OlL
To F’Nﬁ d i mulbpy o2 & (oluemn 2- d:z 20 2ilmyqo = ~q+—(+o

= -5.0+3 = oFlF= 1§

5 Q\/\Sw-%o [Lf j
| | § -9 1
ot (5%



